KASNEB

CIFA PART II SECTION 4

EQUITY INVESTMENTS ANALYSIS

THURSDAY: 26 May 2016. Time Allowed: 3 hours.
Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your
workings.
QUESTION ONE
(a) Distinguish between the following types of equities returns:
(i) “Required rate of return” and “expected rate of return”. (2 marks)
(i) “Holding period return” and “realised return”. (2 marks)

(b)

(©
(@

Examine four factors that should be considered by individual and corporate investors while.d ~iding whether to
invest in foreign equity securities. (4 marks)

Explain how Michael Porter’s five competitive forces could affect the financial forecasvof a company. (5 marks)

Joshua Chitema, an equity and investments analyst for an investment bank is re¢wiewing BTP Ltd., a small cap firm
whose shares trade thinly on the over the counter (OTC) market. He ccinpiles the data presented below and
estimates the forward looking equity risk premium using the Gordon growsl» model. To the risk premium computed,
he adds 1.50% to account for the additional small firm risk premium aggeciated with BTP Ltd. The following data is
provided relating to the Gordon growth model:

e  Current price level of the market index 1480.00
e Current year’s dividend on the market index Sh.31.25
¢  Year ahead forecasted dividend on the market index: Sh.33.60
e Long term earnings growth rate for the market index 6.00%
¢ Current long-term government bond yield 4.00%
e Current short-term government bond yield 2.75%

Joshua shows his computations to the firni’s Chief Investment Officer (CIO) who suggests that the macroeconomic
model with supply side analysis usingrthe Ibbotson-Chen Model provides a better estimate for BTP Ltd.’s risk
premium. The CIO suggests that BFP Ltd. commands a 0.75% risk premium for its thin trading in addition to the
small firm risk premium that Joshua has already considered. The relevant data is presented below:

Expected growth rate in reab earnings per share (EPS) 3.00%

Expected growth rate ingrice to earnings (P/E) ratio 1.50%

Expected income conagonent 2.50%

Expected Treasury Inflation Protected Securities (TIPS) yield  2.15%

Expected inflation 1.81%

Required:

(i) The risk premium for BTP Ltd. share using the Gordon growth model. (3 marks)
(ii) The risk premium for BTP Ltd. share using the macroeconomic model factoring in the relevant adjustment.

(4 marks)
(Total: 20 marks)
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QUESTION TWO
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Highlight three roles that an investment and finance professional might play in the equity valuation process.(3 marks)

The following information relates to Mimo Ltd:

Net profit margin is 22%.

Sales in year zero are Sh.15 million.

Fixed capital investment in year zero is Sh.4 million.

Depreciation in year zero is Sh.5 million.

Working capital investment as a percentage of sales is 8.5 %.

Tax rate is 30%.

Interest expense on Sh.20 million par value debt in year zero is 11.5%.

Weighted average cost of capital (WACC) during the high growth phase is 20%.

Weighted average cost of capital (WACC) during the mature phase is 16%.

0. Net income, fixed capital investment, depreciation, interest expense and sales are expected to grow at a rate
of 12% for the next 5 years and then stabilise at a longer term constant growth rate of 6%.

SO PN LR LN~

Required:
(i) The value of Mimo Ltd. using free cash flow to the firm (FCFF) approach. (8 marks)
(ii) Describe two sources of error in the application of the free cash flow model when xaluing equity securities.

(2 marks)

A newly employed CIFA graduate has been provided with the following data pefating to Teen Ltd. for the year
ended 31 December 2015:

e Total invested capital Sh.10.5 million
e  Debt to equity ratio 0.6

¢  Cost of equity 8%

e Before tax cost of debt - 5%

e Taxrate 30%

e  Earnings before interest and taxes Sh.1.3 million.

Note: Research and developmént expenditure amounting.to Sh.270,000 has been deducted to arrive at the earnings
before interest and taxes (EBIT).

Required:
(i) The company’s residual income. (3 marks)
(ii) The company’s economic valuetadded (EVA). (4 marks)

(Total: 20 marks)

QUESTION THREE

(@)

(b)

Evaluate three investment situations in which an investment analyst could appropriately use price-to-book (P/B)
ratio in valuation. (3 marks)

Salim Hasan, an equi¢y analyst at Beta Capital, has gathered the following data regarding Patels Limited which is
quoted at the secusities exchange:

e  Current market price per share (MPS) Sh.60

¢  Current year earnings per share (EPS) Sh.5

e  Current year dividend per share (DPS)  Sh.2.25

e Required rate of return on equity 10%

e Dividend growth rate 5.5%

Required:

(i) The justified trailing price-to-earnings (P/E) ratio. (2 marks)
(i) The justified leading price-to-earnings (P/E) ratio. (2 marks)
(iii) Determine whether the company is currently under-valued, fairly-valued or over-valued. (1 mark)
(iv) Summarise three weaknesses of price-to-earnings (P/E) ratio. (3 marks)
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(c) Benson and Benson Limited (BBL) is expected to grow at the rate of 30% for the next five years. After that, competition
is expected to lower BBL’s growth rate to a constant growth rate of 7% per annum indefinitely. The market risk premium
is 6% and the risk free rate is 5%. BBL’s beta is 1.5 and the company just paid a dividend of Sh.2.50.

Required:

The current value of BBL’s share. (7 marks)
(d) Differentiate between *‘growth relative to gross domestic product (GDP) approach” and “market growth and market

share approach” as used in industry and company analysis. (2 marks)

(Total: 20 marks)

QUESTION FOUR

(a) 6] Examine four principles of Dow theory in relation to technical analysis. (4 marks)
(ii) Explain the reasoning behind “*support level” and “resistance level” in relation to technical analysis.

{4 marks)

(iit) The exhibit below relates to Fairmall Limited, a company quoted at the securities exchange with a 50-day

Moving Average and Relative Strength compared to Standard and Poor (S&P) industrials with 50-day
moving average for the year 2014 and 2015:
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Required:
Interpret the chart output lines labelled 1 to 4 in (a)(iii) above. (4 marks)
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Kendagor Ondigo, an equities analyst at Fiduciary Capital, is analysing Fast Technologies Limited which deals with
computer software. The following are the sales data for the existing software and the new software which was
launched in the year 2015 and which is expected to catch the attention of the market:

2015 2015
Sh.million Sh.million

Existing software: New software:
Individual sales 2,640 Individual sales 45
Corporate sales 400 Corporate sales 0

3,040 45
The equities analyst intends to forecast the year 2016 sales using the following assumptions:
1. Individual sales of the new software will increase by 375% in the year 2016, but the new software will not

be adopted by corporate customers.

2. Sales of existing software to corporate customers will remain static.
3. Sales of existing software to individuals will shrink by 25% as a result of the new software.
Required:
The total estimated revenue from the software business in the year 2016. (4 marks)

Evaluate four factors that could affect an industry on a temporary basis but might @ot determine the industry
profitability and structure in the long run. (4 marks)
(Total: 20 marks)

QUESTION FIVE

(a)

(b)
(c)

(d)

The following information relates to two manufacturing firms, Hapco Limited and Texlex Limited, and the Standard
and Poors’ (S&P) industrials average:

. Hapco Limited Xexlex Limited S & P Industrials average
Price to earnings (P/E) ratio 30 27.00 18.00
Expected annual growth rate 0.18 0.15 0.07
Dividend yield 0.00 0.01 0.02
Required:
(1) The growth duration of each company shars\relative to the S & P industrials average. (3 marks)
(ii) The growth duration of Hapco Limitedrelative to Texlex Limited. (2 marks)
(iii) Comment on your investment deci$ion based on the growth duration obtain in (a)(i) and (a)(ii) above. (2 marks)
Compare and contrast public company-valuation and private company valuation. (3 marks)

The following information is relévant for valuation of Panha Corporation:

*  Working capital balance Sh.50,000,000

e  Fair value of fixed assets Sh.75,000,000

¢ Book value of fi%ed assets Sh.60,000,000

e Normalised edrnings of firm Sh.25,000,000

¢ Required return on working capital 10%

¢ Required return on intangible assets 12%

e Required return on fixed assets 8%

e  Weighted average cost of capital 10%

e Long-term growth rate of residual income 6%

Required:

Using the excess earnings method, determine the following:

(i) The value of Panha Corporation’s intangible assets. (3 marks)
(ii) The market value of invested capital. (2 marks)
Highlight five steps of the equity valuation process. (5 marks)

(Total: 20 marks)
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